

Review Sheet

$$1 \text{ii)} \quad \int \sin^4 x dx = \int (\sin^2 x)^2 dx$$

$$\frac{1 - \cos 2x}{2} = \sin^2 x \quad \cos^2 x = \frac{1 + \cos 2x}{2}$$

$$\int \left(\frac{1 - \cos 2x}{2} \right)^2 dx = \frac{1}{4} \int (1 - 2\cos 2x + \cos^2 2x) dx$$

$$= \frac{1}{4} \int 1 dx - \frac{2}{4} \int \cos 2x dx + \frac{1}{4} \int \cos^2 2x dx$$

$u = 2x$

$$= \frac{1}{4} x - \frac{1}{2} \cdot \frac{1}{2} \sin 2x + \frac{1}{4} \int \frac{1 + \cos[2(2x)]}{2} dx$$

$$= \frac{1}{4} x - \frac{1}{4} \sin 2x + \frac{1}{8} \int (1 + \cos 4x) dx$$

$$= \frac{1}{4} x - \frac{1}{4} \sin 2x + \frac{1}{8} x + \frac{1}{8} \cdot \frac{1}{4} \sin 4x + C$$

1 xi) $\int \sec^3 x dx$ \rightarrow parts $u = \sec x$
 $dv = \sec^2 x$
 \searrow switch $\sec^2 x \rightarrow \tan^2 x + 1$

$$\int \sec^3 x dx = \sec x \tan x - \int \sec x \tan^2 x dx$$

$$\begin{aligned} u &= \sec x & du &= \sec x \tan x dx \\ dv &= \sec^2 x dx & v &= \tan x \end{aligned}$$

$$\sec x \tan x - \int \sec x (\sec^2 x - 1) dx$$

$$\int \sec^3 x dx = \sec x \tan x - \int \sec^3 x dx + \int \sec x dx$$

$$2 \int \sec^3 x dx = \sec x \tan x + \ln |\sec x + \tan x| + C$$

$$\int \sec^3 x dx = \frac{\sec x \tan x + \ln |\sec x + \tan x|}{2} + C$$

parts: $= \sec x \tan x - \int \sec x \tan^2 x dx$

$\int \sec^3 x dx$ \rightarrow trig $= \int \sec x (1 + \tan^2 x) dx$

$$= \int \sec x dx + \int \sec x \tan^2 x dx$$

$$\int \sec^3 x dx = \sec x \tan x - \int \sec x \tan^2 x dx$$

$$\int \sec^3 x dx = \int \sec x dx + \int \sec x \tan^2 x dx$$

$$2 \int \sec^3 x dx = \sec x \tan x + \ln |\sec x + \tan x|$$

i) iii) $\int \frac{x^4 + x + x^2}{x^2 + 1} dx$

$$\begin{array}{r}
 x^2 \text{ rem } x \\
 x^2 + 1 \overline{) x^4 + 0x^3 + x^2 + x + 0} \\
 \underline{x^4 + 0x^3 + x^2} \quad \leftarrow x^2 + 0x + 1 \text{ times } x^2 \\
 0 + x + 0
 \end{array}$$

$$\frac{x^4 + x + x^2}{x^2 + 1} = x^2 + \frac{x}{x^2 + 1}$$

$$\frac{\quad}{x^2+1} = x \cdot \frac{1}{x^2+1}$$

$$\int x^2 dx + \int \frac{x}{x^2+1} dx$$

$$u = x^2 + 1$$

(ix) $\int \frac{x^2 - 4}{(x^2 + 1)x} dx$

$$\frac{x^2 - 4}{(x^2 + 1)x} = \frac{Ax + B}{x^2 + 1} + \frac{C}{x}$$

$$x^2 - 4 = x(Ax + B) + C(x^2 + 1)$$

$$x^2 - 4 = x^2(A + C) + x(B) + C$$

$$B = 0 \quad C = -4 \quad A = 5$$

$$x^2 - 4$$

$$5x$$

$$4$$

$$7$$

$$\frac{x^2 - 4}{x(x^2 + 1)} = \frac{5x}{x^2 + 1} - \frac{4}{x} \quad ?$$